
答え

円の面積１
（いろいろな図形の面積）

年　  　組　　名前（　　　                　　　　　　　　　） 
次の図形の色のついた面積を求めましょう。

答え

(1) 式 計算スペース

(4) 式

答え

(2) 式

答え

(3) 式
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答え 942㎠

答え 78.5㎠

８×８×3.14÷２
＝100.48

円の面積１
（いろいろな図形の面積）

年　  　組　　名前（　　　                　　　　　　　　　） 
次の図形の色のついた面積を求めましょう。
(1) 式 計算スペース２０×２０×3.14÷２＋１０×１０

×3.14
＝２００×3.14＋１００×3.14
＝（２００＋１００）×3.14
＝３００×3.14
＝９４２

(2) 式 ６×６×3.14－３×３×3.14
＝３６×3.14－９×3.14
＝(36－９）×3.14
＝２５×3.14
＝７８．５

答え 57㎠

(3) 式

答え 100.48㎠

(4) 式 １０×１０×3.14÷４－１０×１０
÷２
＝２５×3.14－５０
＝78.5－50
＝28.5
２８．５×２＝５７
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